
Modal Test Paper
Class-X

Subject:- Economics
Term-I Exam-2021

Time: 3.00hrs. (Hindi & English) M.M. 50

ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA
izR;sd iz'u ds vad mlds lkeus fn;s x;s gSaA

(Candidates should answer in their own words as much as possible.
Marks for each questions are given against it.

lkekU; funsZ'k%&
General Instructions:-

¼1½¼iz'uksa ds mÙkj nsrs le; tks iz'u la[;k iz'u ij n'kkZ;h xbZ gS] mÙkjiqfLrdk ij ogh iz'u la[;k fy[kuk
vfuok;Z gSA½

While answering the questions the questions number which is shown on the question
paper. It is mandatory to write the same question number on the answer sheet.

(2) mÙkj iqfLrdk ds chp esa [kkyh iUuk@iUus u NksfM+,A
Do not leave blank pages in the middle of the answer sheet.

(3) ;g iz'u i= nks [k.Mks es foHkkftr gSA
This paper is divided into two sections.

(4) bl isij esa 37 iz'u gSa ftuesa ls 30 gy djus gSA
There are total Thirty Seven Questions in this paper. Out of which 30 questions are to be
attempted.

(5) [kaM d& blesa 20 iz'u gSa lHkh iz'u oLrqfu"B gS vkSj vfuok;Z gSA
Section A-Contains 20 questions. All are M.C.Q type and compulsory.

(B) [kaM [k& bl ds rhu Hkkx gSaA blesa dqy 17 iz'u gSA lHkh lCtsfDVo gSA
Section B is divided into three parts. It contains 17 questions. All are

subjective.

[kaM&[k& Hkkx ,d iz'u la[;k 1 ls 7 rd vfr y?kq mÙkjh; iz'u gSaA izR;sd dk mÙkj 20 ;k 30 'kCnksa esa gksuk
pkfg,A

Section B- Part-Question number 1 to 7 are very short answer type questions the
answer should not exceeded approximately 20 to 30 words.

[kaM&[k& Hkkx&nks iz'u la[;k 8 ls 11 y?kq mÙkjh; iz'u gSA izR;sd dk mÙkj 50 'kCnksa ls vf/kd ugha gksuk pkfg,A

Section B- Part-II Question numbers 8 to 11 are short answer type questions the answer to
each should not exceed approximately 50 words.

[kaM&[k Hkkx rhu iz'u la[;k 12 ls 17 rd nh?kZ mÙkjh; iz'u gSA izR;sd dk mÙkj 80 ls 100 'kCnksa esa gksuk pkfg;sA
Section C Part-III Question number 12 to 17 are long answer type questions. Each should be in

about 80-100 words.
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[k.M&d
Section A

blesa 20 iz'u gSA lHkh iz'u vfuok;Z gSA
Contains 20 questions. All are compulsory.

1. Hkkjr esa igyh iapo"khZ; ;kstuk dc 'kq: dh xbZ FkhA
` (a) 1951 (b) 1952

(c) 1953 (d) 1954

First five year plan in India Starts
(a) 1951 (b) 1952
(c) 1953 (d) 1954

2. mRiknu ds pkj dkjd gSA
(a) Hkwfe] Je] iwath vkSj laxBu
(b) Hkwfe] fctyh] ty vkSj Je
(c) Je] Hkwfe] iwath vkSj o"kkZ
(d) Je] tyok;q] Hkwfe vkSj o"kkZ

The four factors of Productions
(a) Land, Labour, Capital . Organisation
(b) Land, Electricity, Water and Labour
(c) Labour, Land, Capital and Rain
(d) Labour, Climate, Land and Rain

(3) izFke iapo"khZ; ;kstuk dk eq[; cy fdl {ks= ij FkkA
(a) d̀f"k (b) m|ksx
(c) i;ZVu (d) xjhch gVkvks

The main Thrust of the first five year plan was on-
(a) Agriculture (b) Industry
(c) Tourism                 (d) Poverty Elevation

(4) fefJr vFkZO;oLFkk ls D;k vfHkizk; gSA
(a) ljdkjh o d̀f"k {ks= dk lg&vfLrRo (b) ljdkjh o futh {ks= dk lg&vfLrRo

(c) futh o d̀f"k {ks= dk lg&vfLrRo (d) vehj o xjhc dk lg&vfLrRo

What is meant by mixed economy
(a) Co-existence of Govt. and Agriculture sector
(b) Co-existence of Govt. and Private Sector
(c) Co-existence of Private and Agriculture sector
(d) Co-existence of rich and poor

(5) cUn vFkZO;oLFkk og gS ftlesa&
(a) dsoy fu;kZr gks (b) dsoy vk;kr gks
(c) ?kkVS dh foÙk O;oLFkk gksrh gS (d) u fu;kZr gks u gh vk;kr gks

A closed economy is one which
(a) Has only Export
(b) Has only Import
(c) There is a deficit financing
(d) system neither export nor import.
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(6) Hkkjr esa loZizFke jk"Vªh; vk; dk vkdyu fdl us fd;k Fkk\
(a) ch0vkj0 vEcsMdj (b) nknk HkkbZ ukSjksth
(c) jktsUnz izlkn (d) egkRek xka/kh

For the first time in India the National Income was estimated
(a) B.R. Ambedkar (b) Dada Bhai Nairoji
(c) Rajendra Prasad (d) Mahatma Gandhi

(7) Hkkjrh; vFkZO;oLFkk fdl izdkj dh vFkZO;oLFkk gS\

(a) iawthoknh vFkZO;oLFkk (b) lektoknh vFkZO;oLFkk
(c) fefJr vFkZO;oLFkk (d) buesa ls dksbZ ugha

Indian Economy is which type of Economy
(a) Capitalist Economy (b) Socialist Economy
(c) Mixed Economy (d) None of these

(8) Hkkjr dk lafo/kku dc ykxw gqvk

(a) 15 vxLr] 1947 (b) 26 tuojh] 1947
(c) 26 tuojh] 1950 (d) 15 vxLr 1950

When did the Constitution of India implement
(a) 15 August 1947 (b) 26 January 1947
(c) 26 January 1950 (d) 15 August 1950

(9) buesa  ls dkSu lk izR;{k dj ugha gSA

(a) vk; dj (b) vk;kr fu;kZr dj
(c) fuxe dj (d) dksbZ Hkh ugh

Which of these are not direct taxes.
(a) Income Tax (b) Import-Export Tax
(c) Corporation Tax (d) None of these

(10) buesa ls dkSu lk vizR;{k dj gS

(a) fcØh dj (b) mRiknu dj
(c) vk;kr&fu;kZr dj (d) ;s lHkh
Which of these is Indirect tax
(a) Sales Tax (b) Production Tax
(c) Import-Export Tax (d) All these

(11) buesa ls dkSu lk egkuxj ugha gS

(a) dksydkrk (b) fnYyh
(c) /keZ'kkyk (d) psUubZ

Which of the following is not a metropolis
(a) Kolkata (b) Delhi
(c) Dharamshala (d) Chennai

(12) xzkeh.kksa dh vkthfodk dk eq[; L=ksr gS&

(a) dqVhj m|ksx (b) df̀"k
(c) y?kq m|ksx (d) Hkkjh m|ksx
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The main source of the livelihood of the villagers are
(a) Cottage Industry (b) Agriculture
(c) Small Scale Industry (d) Heavy Industry

(13) vkbZ0vkj0&8 fdl fdLe dk vukt gSA
(a) xsgwa (b) eDdh
(c) frygu (d) pkoy

IR-8 is which type of cereal
(a) Wheat (b) Maize
(c) Oilseeds (d) Rice

(14) gfjr Økafr ls fdl izns'k esa lEiUurk vkbZ gSA
(a) fcgkj (b) iatkc
(c) mM+hlk (d) mÙkj izns'k

The Green Revolution brought prosperity to which State
(a) Bihar (b) Punjab
(c) Orissa (d) Uttar Pradesh

(15) Hkkjr fu;kZr djrk gSA
(a) iSVªksfy;e (b) vykSg oLrw,aa
(c) pk; (d) moZjd

India exports which of the following

(a) Petroleum (b) Non Ferrous Goods
(c) Tea (d) Fertilizers

(16) gfjr Økafr ls fdu [kk|kuksa dh iSnkokj esa of̀) gqbZ\
(a) xsgwa (b) Tokj
(c) cktjk (d) ;s lHkh

Green Revolution increased the Production of which of the following food grains
(a) Wheat (b) Sorghum
(c) Pearl Millet (d) All of the above

(17) gfjr Økafr dk mn; dc gqvk\
(a) 1960 (b) 1966
(c) 1970 (d) 1980

When was Green Revolution started in India
(a) 1960 (b) 1966
(c) 1970 (d) 1980

(18) 11oha iapo"khZ; ;kstuk esa lk{kjrk nj dk y{; Fkk&
(a)90% (b) 70%
(c) 85% (d) 80%

The target literacy rate of the 11th Five Year Plan was
(a)90% (b) 70%
(c) 85% (d) 80%
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(19) 10oha iapo"khZ; ;kstuk esa fdrus yksxksa dks jkstxkj nssus dk y{; FkkA
(a) 1 djksM+ (b) 3 djksM+
(c) 10 djksM+ (d) 5 djksM+

The 10th Five Year Plan had a target of giving employment to how many people?
(a)1 Crore (b) 3 Crore
(c)10 Crore (d) 5 Crore

(20) lektoknh vFkZO;oLFkk dk eqq[; mís'; D;k gS\
(a) ykHk (b) lkekftd dY;k.k
(c) futh fgr (d) dksbZ Hkh ugh

What is the main objective of socialist economy
(a) Profit (b) Social Welfare
(c)Personal Interest (d) None of the above

1x20=20

[k.M&[k
Section-B

Hkkx ,d % ¼1½ blesa lkr iz'u fns;s x;s gSaA dksbZ pkj iz'u djsaA

Part-I       Contains seven questions. Attempt any four questions.
1.vizR;{k dj fdls dgrs gS\
what are Indirect taxes?

2. df̀"k dk;Z ds eq[; bUiqVl D;k gksrs gS\
what are the main inputs of agriculture work?

3. Hkkjr esa nloha iapo"khZ; ;kstuk dk dk;Zdky D;k Fkk\
what was the period of Tenth Five Year Plan in India?

4. fNih gqbZ csjkst+xkjh ls vki D;k le>rs gS\
what is disguised unemployment?

5. dqVhj m|ksx fdls dgrs gS\
what do you mean by Cottage Industry?
6. vk; dj yxkus dk vf/kdkj fdl dks gS\
who has the right to levy Income Tax?
7. Hkkjr esa df̀"k ds fiNM+siu ds dksbZ nks dkj.k crkvks\
what are the two reasons of backwardness of agriculture in India?

4x2=8

Hkkx nks %&     blesa pkj iz'u fns;s x;s gSaA dksbZ nks iz'u djsaA

Part-II Contains four  questions. Attempt any two  questions.

8. df̀"k Hkkjrh; vFkZO;oLFkk dh jh<+ dh gMMh gSA O;k[;k djsaA
Agriculture is the backbone of the Indian economy. Explain.
9. dqVhj m|ksx o y?kq m|ksxksa esa varj dhft,A
Distinguish between Cottage Industry and small scale Industry.

10. Hkkjr esa jk"Vªh; vk; c<+kus ds fy, lq>ko nhft,A
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Give suggestions to increase the National Income in India.

11. Hkkjr esa Hkwfe lq/kkj ds eq[; mís'; dkSu&2 ls gS\
What are the main objectives of land reforms in India?

3x2=6

Hkkx rhu%&     blesa N% iz'u fns;s x;s gSaA dksb pkj  iz'u djsaA
Part-III       Contains six  questions. Attempt any four questions.

12. gfjr Økafr ij fVIi.kh fyf[k,A
Write a note on green revolution.

13. futh vkSj lkoZtfud {ks= esa vUrj dhft,A
Differentiate between  Public and Private Sector.

14. Hkkjr esa dk;Z'khy tula[;k ij ,d laf{kIr uksV fyf[k,A
write a short note on working population in India.
15. ekSfnzd uhfr dk D;k vFkZ gS\
What is the meaning of Monetary Policy?

16. izR;{k vkSj vizR;{k djksa esa vUrj crkvksA mnkgj.k Hkh nksA
Differentiate between direct and Indirect taxes. Give examples also.

17. cM+s iSekus ds m|ksxksa dk D;k vFkZ gS\
What is meant by large scale Industry?

4x4=16

.
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